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SUMMATIVE ASSESSMENT - II 

 
ODIA 

 

 : 3     : 90 

Time allowed : 3 hours   Maximum Marks : 90 
 

  
         
()   – Reading – 10 

()   – Writing – 15 

()  – Grammar – 15 

()  – Literature – 50 

      
‘’  

 
1.         5 × 2 = 10 
               

    , ,         
            ,   
           ,   
                 
 !        ‘ ’     
,            ,     

 Series : HRK/C Code No.  
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 Please check that this question paper contains 4 printed pages.  
 Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate. 
 Please check that this question paper contains 13 questions. 
 Please write down the Serial Number of the question before attempting it. 
 15 minute time has been allotted to read this question paper. The question paper will be 

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this 
period. 

Candidates must write the Code on 
the title page of the answer-book. 
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                
   ,       ,   
                
      

 ()      ? 
 ()       ? 
 ()       ? 
 ()       ? 
 ()         ? 
 

‘’  
 

2.      : 10 
 ()   
 ()     
 ()    
 

3.               
     5 

 
 ‘ ’            

    
 (.. –      ‘’  ‘’        ) 
 

 ‘’  
 

4. ()         5 
   Pandit Iswar Chandra Vidyasagar was born in 1820 A.D. his father’s name 

was Thakurdas Bandopadhaya. Thakurdas was poor, yet he arranged for his 

son’s education. Vidyasagar was very intelligent and never forgot what he once 

learnt. His teachers foresaw that he would one day become a great man of India. 

 ()        : 5 
   ,  
 ()    : ( 5 ) 5 
  (i)        ( ) 
  (ii)     ( ) 
  (iii)     ( ) 
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  (iv)      ( ) 
  (v)     ( ) 
  (vi)      ( ) 
  (vii)       ( ) 
 

 ‘’  
 

5.        –      8 
 

          
 

6.     ( ) 5 
 ()               
 ()       ’     
 

7.    : (3 ) 3 × 2 = 6 
 ()    ’  ? 
 ()   ‘’  ? 
 ()    ’ ? 
 ()      ? 
 ()        ? 
 

8.       : 4 × 1 = 4 
 ()    ’ ? 
  (i)  (ii)  (iii)  (iv)  
 ()       ’    ? 
  (i)  (ii)  (iii)  (iv)  
 () ‘ ’    ? 
  (i)   (ii)   
  (iii)   (iv)   
 ()           ? 
  (i)   (ii)   
  (iii)   (iv)   
9. ‘  ’        7 

 
    ,        
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10.    : ()   5 
 ()      
       
 ()    
        
 
11.     (  3 )   3 × 2 = 6 
 ()      ’ ? 
 ()      ? 
 ()     ’     ? 
 ()         ? 
 ()        ? 
 
12.       :   4 × 1 = 4 
 ()       ? 
  (i)  (ii)  (iii)  (iv)  
 ()      ? 
  (i)  (ii)  (iii)  (iv)  
 () ’       ? 
  (i)  (ii)   (iii)  (iv)  
 () ‘ ’    ? 
  (i)   (ii)  
  (iii)   (iv)   
 
13.    : ()   5 
 ()     –     ? 
 ()   ’    ? 
 () ‘’  ’ –                    ? 

__________ 


